Multiply and Divide by 10" (D)

Find each product or quotient.

9.9696 + 10' = 6.4714 + 10* =
0.3815 x 10 = 4.803 x 10* =
24 +10'= 8.46 = 10 =
8.0196 x 10 = 2.2+10'=
0.5x 10 = 5.874 = 10' =
1.9 x 10t = 3.769 x 10* =
3.634 + 10! = 2.7869 x 10 =
3.26 x 10* = 1.4136 +~ 10* =
7.01 =101 = 1.36 - 10t =
3.2618 + 10' = 9.2775 x 10* =
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Multiply and Divide by 10* (D) Answers

Find each product or quotient.

9.9696 + 10" = 0.99696

0.3815 x 10" = 3.815

24 +10'=0.24

8.0196 x 10' = 80.196

0.5%x10'=5

1.9 x 10 =19

3.634 + 10" = 0.3634

3.26 X 10 =32.6

7.01 + 10 =0.701

3.2618 + 10* = 0.32618

6.4714 + 10' = 0.64714

4.803 x 10* = 48.03

8.46 - 10* = 0.846

2.2+10'=0.22

5.874 + 10" = 0.5874

3.769 x 10 = 37.69

2.7869 x 10' = 27.869

1.4136 + 10' = 0.14136

1.36 + 10 = 0.136

9.2775 x 10' =92.775
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